MATH 19000

Additional examples

14) r=8ft S=208rzft> h="?
S =2zr?+2xrh
(2087) = 272(8)* + 27(8)h
2087 =1287 +167h
2087 —1287 =167h

80z =167h

e,

167

10

h=—=5ft
2

20) A:%bh forb
LCD=2
A=Lbh

2

BE-E

2
h

22) | =prt forr

| = prt
1 _prt

pt  pt

—=r
pt

24) PV =nRT forR
PV =nRT
PV nRT
nT o onT
PV _Rr
nT
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26)

28)

30)

32)
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A=P+Prt fort
A=P+Prt

A—P =Prt
A-P_Prt
Pr Pr

F =%C+32 forC

F-2cim
5

F-32-2¢
5

HeeaaH

5
2(F-32)=C
9( )

h=vt-16t*> forv
h = vt —16t*
h+16t> = vt
h+16t> vt
t  t
h +16t?
" =V

A=a+(n-1)d forn

A=a+(n-1)d
A-a=(n-1)d
A-a (n-1)d
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34) 2x—-3y=6 fory
2x—-3y =6
2x=3y+6
2X—6=3y
2x—-6 3y
3 3
2X—6
3

=Y

2
gx—Z_y
36) —2x-7y=14 fory
-2X—-7y=14
—2x=T7y+14
—2x-14=17y
-2x-14 7y
77
—2x-14
7 =Y

—X-2=Y

38) 7x-2y-6=0 fory
7x-2y-6=0
X—6=2y
X-6 2y
22

7
Ex—3:y

40) ax—-5=cx—-2 for x
ax—-5=cx-2
ax—cx=5-2

x(a-c)=3

x(a-c) 3
(a—c)_(a—c)
‘= 3
(a-c)
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42)

44)

46)

48)
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A=P+Prt forP
A=P+Prt
A=P(L+rt)

A P@+rt)

Q+rt)  (L+rt)

A

1+rt:

-3x+4y=12 fory
—3Xx+4y =12
4y =3x+12
4y 3x+12
4 4
_ 3x+12
4

3
=—X+3
y 4

by—9=dy+3 fory

by-9=dy+3
by—dy=9+3
y(b—d)=12
y(o—-d) 12
(b-d) (b-d)
12
Y= b-a)
;+é:1
LCD = (7)(9) =63
X
-
BE3)-GE)
1 7 9 1/01
Ox+7y =63
7y =63-9x
7y  63-9x
77
y:63—9x:9_gx
7 7
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50)

l+l:1

16 -2

method 1:
LCD=-16
i+l:1
16 -2

SYEIEY
1 {16 -2 1)U 1
-X+8y=-16

8y =x-16
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56)  8is 2% of what number?
"LCD"=100

8 =(2%)x
8=0.02x
(100)(8) = (0.02x)(100)
800 = 2x

400 = x

for the sequences, the author describes that it starts
from 1 not 0, so the answer like the ones from the
back of the text are grouped in a box.

method 2:
LCD =16

1
3 y

52)  What number is 11% of 67?
X = (11%)(67)

x = (0.11)(67)

X=7.37
54)  What percent of 50 is 5:
x(50) =5
50x=5
5 1

X=—=—=0.1=10%
50 10

58)

60)

a,=4n-1
a,=4(0)-1=-1

a,=4()-1=3
a,=4(2)-1=7
a,=4(3)-1=11
a, =4(4)-1=15

a, = 4(5)-1=19

a,=n*+1
a, =(0)°+1=1

a =) +1=2

a,=(2°+1=9

a, = (3)° +1=28
a, = (4)° +1=65
a. = (5)° +1=126
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62) a =—"
n+2
__© _
" (0)+2
_ @ 1
T+2 3
2 2 1
T@+2 4 2
@ _3
%= @)+2 5
4 4 2
‘T @®+2 6 3
__ (4 _5
S ®+2 1
64) anz%
1 .
a, = W = undefined
1
%szl
a, =+ -1
© (2 8
11
%_(3)3_5
a, =~ -1
‘' (4)° 64
1
5‘@‘@
66) a =3
a, =39 =1
a=3"=3
a,=3"=9
a,=3% =37
a,=3" =81
a; =3 =243
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68)

a, :1—l
n

method 1:
1 .

a, =1——=undefined
(0)

"

o
|
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|

gl MDD wWlw
|

gl Nk Wl
|

[ |
ald pNlw WIN N

o
#\
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method 2:

an :1_322_
n

1 n-1
n n

method 1:

a, = =1 ndefined

(0)

_®-1_0_,

@ 1
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